3 et e ol ol Agatir}

®

DO | Qo

@ ® 4

SN V)



2. 1-3+42-4+5-7+6-8+9-11 & AXtstH?

O -7 ® -8 B3 -9 @ -10 B -11



O AAHEH @ A2AEH

®
=
>
g
2

@ A4t






B e

e



6.

Al A4 5 x x, 6 x x, 9x x o] HAFE57F270 A o, x <
T-stofzt,

s
=¥

Eis

ftlo






8.

filo
d

e F 20E WESH 5 A4 S Y

rr

7. A8t B O AUigre At
L. AL BHt}t6HHE ach

D -6 ® -3 3 0




9. A2 Zdol7t 712 9] AolHt} 2 emZl AR o] E| 9] Zol7t
24 cmo|tt. olf|, 7}2 9] Zol & ~Fotoft

e o



10. x 9] gol a,b,c0]al, Y] #ol bc,d ¥ W, (X,Y) 2 o]FojA =
o] g Fotodet, (H, Xl gk # Yol 4t

e =
-

i



11.

o AHEH ] HEo] HEE2A] &[0 2] 2] gh2 Z2?

D A(-1, 2) - Al 24H2H @ B(2, -7) > A 4AHEH
® C(0, -5) = x= 7 @ D(-4,-5) - A 3AHEH

® E(2, 2) » Al 1AHEH



12. o535 &2 420

flo

@® 25=6

@ 3x3x3x3=3'=12

@ 2x2XTXT=22XxT?>=4x49 =196
@ 1 1 1

3x3x3x3 43 64

S 1 B 1 1
I%29%3%x3x5%5 22x3x%x5 60




13.

AT 159 oFpo] Relo] 11, Bi= o 420 OF4
5" 7 A= 1ol Oi'ld 7t E 4
Sto

H =

v

L

Tstofzt. (&



@ 6+ (-2)=-3

@ 0+3=0

@ 3+(-1)=-3

1

® (=3) = (+3)



15.

Al 4= a, b, ¢ ol s 4 44

® a+b=b+a
@ a-b=b-a
® axb=bxa
@ (@a+b)+c=a+(b+c)

® ax(b+c)=axb+axc



16.

S Z~32]

S A A H A, B A
Z2 A = C o He
St= 8 otH?

@ @

|
Wil N
| ot

L do!

|
ISR s

ol w

Ol

2| 97



17.

3Zx(-7)+A=-3, 8><B+§+1:A%lﬂ],A, Bo fo=r 2
Ag Bt

® A=20,B=3 @ A=21,B=3 ® A=20,B=5

@ A=21, B=5 ® A=21,B=7

rlo



18.

: . 514 6009191 erEte] 4 o o200 ]
BYALL, 5ol YA S ool GPA puek e L %
o] 3]

H



ol

i

)
2 AN

7 ® 350 7
@ 420

® 210 7R

@® 490 74
@ 280 7



20.



